Unit 7: Polygons & Quadrilaterals
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Homework 7: Kites
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Directions: If each quadrilateral below is a kite, find the missing measures.
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7. If XZ = 46 and WR = 21, find WX.
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9. If NK = 7x - 1, NM = 10x — 13, and KM = 24, find NP.
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33, Find mcH.
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36. If WY = 155 = 2 and XZ = 9x + 10, find 7.
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b Is & square, find each angle. 27. Using WXYZ from the previous question,
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Topic 7: Classifying Quadrilaterals in the Coordinate Plane

28. Determine the most precise classificiaton for quadrilateral ABCD (parallelogram, rectangle, rhombus,
or square) given A(3, -4), B(10, -2), C(8, -9), D(1, -11).
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Use quadrilateral BCDE 29. If B(-2, -5) and C(4, -1), what must be the slope of ED
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30. Given the coordinates above, what m the slope of
BE in order for BCDE to be &rectangle?
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